SCIREA Journal of Mathematics



http://www.scirea.org/journal/Mathematics

October 17, 201 Volume 1, Issue1, October 2016

Generalized Fibonacci Polynomials and Some Fundamental Properties

Omprakash Sikhwal^{1*} and Yashwant Vyas² ¹ Devanshi Tutorial, Keshw Kunj, Mandsaur (M.P.), India E-mail:opbhsikhwal@rediffmail.com, opsikhwal@gmail.com and ²Research Scholar, Faculty of Science, Pacific Academy of Higher Education and Research University, Udaipur, (Raj.) India E-mail:Yashwant.vyas@rediffmail.com

*Corresponding author: E-mail: opbhsikhwal@rediffmail.com, opsikhwal@gmail.com

Abstract. Various sequences of polynomials by the names of Fibonacci and Lucas polynomials occur in the literature over a century. Generalization of the Fibonacci polynomial has been done using various approaches. One usually found in the literature that the generalization is done by varying the initial conditions. In this paper we study the so-called generalized Fibonacci polynomials: $u_n(x) = xu_{n-1}(x) + u_{n-2}(x)$, $n \ge 2$ with $u_0(x) = a$ and $u_1(x) = 2a + 1$, where a is any integer. Further we give some fundamental properties about the generalized Fibonacci polynomials. **Mathematics Subject Classification 2010:** 11B37, 11B39.

Keywords: Fibonacci polynomials, Generalized Fibonacci polynomials, Generating function, Binet's Formula.

1. Introduction

Various sequences of polynomials by the names of Fibonacci and Lucas polynomials occur in the literature over a century. Many works dealt with different properties of these polynomials and their applications. Fibonacci polynomials appear in different frameworks. Fibonacci polynomials are special cases of Chebyshev polynomials and have been studied on a more advanced level by many mathematicians. Fibonacci polynomials were studied in 1883 by the Belgian mathematician Eugene Charles Catalan and the German mathematician E. Jacobsthal. The polynomials studied by Catalan are defined by the recurrence relation

$$F_{n}(x) = xF_{n-1}(x) + F_{n-2}(x), \ n \ge 3 \text{ with } F_{1}(x) = 1, \ F_{2}(x) = x.$$
(1.1)

The Fibonacci polynomials studied by Jocobstral are defined by

$$J_{n}(x) = J_{n-1}(x) + xJ_{n-2}(x), n \ge 3 \text{ with } J_{1}(x) = 1, J_{2}(x) = 1.$$
(1.2)

He first gave the name "Fibonacci polynomials".

The Fibonacci polynomials studied by P. F. Byrd are defined by

$$\varphi_{n}(x) = 2x\varphi_{n-1}(x) + \varphi_{n-2}(x), \ n \ge 2 \quad \text{with} \ \varphi_{0}(x) = 0, \ \varphi_{1}(x) = 1.$$
(1.3)

The Lucas polynomials originally studied in 1970 by Bicknell and they are defined by

$$L_{n}(x) = xL_{n-1}(x) + L_{n-2}(x), \ n \ge 2 \text{ with } L_{0}(x) = 2, \ L_{1}(x) = x \quad [4].$$
(1.4)

Basin show that Q matrix generates a set of Fibonacci Polynomials satisfying the recurrence relation

$$f_{n}(x) = xf_{n-1}(x) + f_{n-2}(x), \ n \ge 2 \text{ with } f_{0}(x) = 0, \ f_{1}(x) = 1.$$
 [18]
(1.5)

He derives the explicit forms and generating function by matrix method. Equation (1.5) is now the accepted form of Fibonacci polynomials. The first few polynomials of (1.5) are

$$\begin{aligned} f_1(x) &= 1, \quad f_2(x) = x, \quad f_3(x) = x^2 + 1, \quad f_4(x) = x^3 + 2x, \\ f_5(x) &= x^4 + 3x^2 + 1, \quad f_6(x) = x^5 + 4x^3 + 3x \text{ and so on.} \end{aligned}$$

The Fibonacci numbers are recovered by evaluating the polynomials at x=1

$$f_n(1) = F_n$$
, where F_n is Fibonacci numbers (1.6)

Generating function of Fibonacci polynomials is

$$\sum_{n=0}^{\infty} f_n(x) t^n = t \left(1 - xt - t^2 \right)^{-1}.$$
(1.7)

Explicit sum formula for Fibonacci polynomials is

$$f_n(x) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} {\binom{n-k-1}{k}} x^{n-1-2k},$$
(1.8)

The Lucas polynomials [3] are defined by the recurrence formula:

$$l_{n+1}(x) = x l_n(x) + L_{n-1}(x), \ n \ge 2 \text{ with } l_0(x) = 2, \ l_1(x) = x$$
(1.9)

Generating function of Lucas polynomials is

$$\sum_{n=0}^{\infty} l_n(x) t^n = (2 - xt) (1 - xt - t^2)^{-1}.$$
(1.10)

Explicit sum formula for Lucas polynomials is given by

$$l_n(x) = \sum_{k=0}^{\left\lfloor \frac{n}{2} \right\rfloor} \frac{n}{n-k} \binom{n-k}{k} x^{n-2k}, \qquad (1.11)$$

where $\binom{n}{k}$ a binomial coefficient and [x] is define as the greatest integer less than or equal to x.

The Fibonacci and Lucas polynomials possess many fascinating properties which have been studied in [2-8], [11], [13-19] and [21-22].

Generalized Fibonacci polynomials have been intensively studied for many years and have become an interesting topic in Applied Mathematics. Hoggatt and Bicknell introduced a generalized Fibonacci polynomials and their relationship to diagonals of Pascal's triangle [20]. Also after investigating the generalized Q-matrix, Ivie introduced a special case [12]. Nalli and Haukkanen introduced h(x) Fibonacci polynomials that generalize both Catalan's Fibonacci polynomials and Byrd's Fibonacci Polynomials and the k-Fibonacci number. Also they provided properties for these h(x) Fibonacci polynomials where h(x) is a polynomial with real coefficients [4]. In this paper we study some properties of generalized Fibonacci polynomials.

2. Generalized Fibonacci Polynomials

Generalization of the Fibonacci polynomial has been done using various approaches. Mainly, two certain recursive schemes are observed, which associated with generalization of Fibonacci polynomials: (1) By changing the recurrence relation while preserving the initial terms, (2) By changing the initial terms but recurrence relation is preserved. Generalized Fibonacci polynomials u(x) are defined as

$$u_{n}(x) = xu_{n-1}(x) + u_{n-2}(x), n \ge 2. \text{ with } u_{0}(x) = a \text{ and}$$
$$u_{1}(x) = 2a + 1, \text{ where } a \text{ is integer.}$$
(2.1)

The first few terms of (2.1) are as follows:

$$u_{0}(x) = a,$$

$$u_{1}(x) = 2a + 1,$$

$$u_{2}(x) = (2a + 1)x + a,$$

$$u_{3}(x) = (2a + 1)x^{2} + ax + (2a + 1),$$

$$u_{4}(x) = (2a + 1)x^{3} + ax^{2} + 2(2a + 1)x + a,$$

$$u_{5}(x) = (2a + 1)x^{4} + ax^{3} + 3(2a + 1)x^{2} + 2ax + (2a + 1), \text{ and so on}$$

The characteristic equation of (2.1) is $\lambda^2 - x\lambda - 1 = 0$, which has two real roots

$$\alpha = \frac{x + \sqrt{x^2 + 4}}{2}$$
 and $\beta = \frac{x - \sqrt{x^2 + 4}}{2}$

Also,

$$\alpha\beta = -1, \ \alpha + \beta = x, \ \alpha - \beta = \sqrt{x^2 + 4}, \ \alpha^2 + \beta^2 = x^2 + 2.$$
(2.2)

Binet's formula

$$u_{n}(x) = A\alpha^{n} + B\beta^{n} = A\left(\frac{x + \sqrt{x^{2} + 4}}{2}\right)^{n} + B\left(\frac{x - \sqrt{x^{2} + 4}}{2}\right)^{n}.$$
(2.3)

Here,
$$A = \frac{(2a+1)-a\beta}{\alpha-\beta}$$
 and $B = \frac{a\alpha-(2a+1)}{\alpha-\beta}$.
Also, $AB = \frac{-(a^2+3a+1)}{(\alpha-\beta)^2}$ and $A+B = u_0(x) = a$.

Generating function

$$\sum_{n=0}^{\infty} u_n(x)t^n = \frac{a + (2a + 1 - ax)t}{1 - xt - t^2}.$$
(2.5)

Hypergeometric representation of generating function

By generating function (2.5), we have

$$\sum_{n=0}^{\infty} u_n(x)t^n = \frac{a + (2a + 1 - ax)t}{1 - xt - t^2}$$
$$= \left[a + (2a + 1 - ax)t\right] \left[1 - (x + t)t\right]^{-1}$$
$$= \left[a + (2a + 1 - ax)t\right] \sum_{n=0}^{\infty} (x + t)^n t^n$$
$$= \left[a + (2a + 1 - ax)t\right] \sum_{n=0}^{\infty} t^n \sum_{k=0}^n \binom{n}{k} x^{n-k} t^k$$

$$= \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \sum_{k=0}^{n} \frac{n!}{k!n-k!} x^{n-k} t^{n+k}$$

$$= \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{n+k!}{k!n!} x^{n} t^{n+2k}$$

$$= \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \frac{\left(xt\right)^{n}}{n!} \sum_{k=0}^{\infty} \frac{n+k!}{k!} t^{2k}$$

$$= \left[a + (2a+1-ax)t\right] e^{xt} \sum_{k=0}^{\infty} \frac{n+k!}{k!} (t^{2})^{k}$$

$$= \left[a + (2a+1-ax)t\right] e^{xt} \sum_{k=0}^{\infty} \frac{n+k!}{n!} \frac{(t^{2})^{k}}{k!},$$

$$= \left[a + (2a+1-ax)t\right] e^{xt} \sum_{k=0}^{\infty} \frac{n+k!}{n!} \frac{(t^{2})^{k}}{k!},$$

$$= \left[a + (2a+1-ax)t\right] e^{xt} \sum_{k=0}^{\infty} \frac{n+k+1}{n+1} \frac{(t^{2})^{k}}{k!},$$

$$= \left[a + (2a+1-ax)t\right] e^{xt} \sum_{k=0}^{\infty} (n+1)_{k} \frac{(1)_{k}}{(1)_{k}} \frac{(t^{2})^{k}}{k!},$$

Hence,

(2.4)

$$\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} = \left[a + (2a+1-ax)t \right] e^{xt} {}_2F_1\left(n+1, 1; 1; t^2\right). \quad (2.6)$$

3. Some Fundamental Properties of Generalized Fibonacci Polynomials

In this section we present some fundamental properties of generalized Fibonacci polynomials which are described in [8] and [14]. Generating function, binet's formula and explicit sum formula have been used to establish the results.

Theorem 3.1. Prove that

$$u_{n+1}(x) - u_{n-1}(x) = xu_n(x), \ n \ge 1.$$
(3.1)

Proof. By generating function of generalized Fibonacci polynomials, we have

$$\sum_{n=0}^{\infty} u_n(x)t^n = \left[a + (2a+1-ax)t\right] \left(1 - xt - t^2\right)^{-1}.$$

Differentiating both sides with respect to t, we get

$$\sum_{n=0}^{\infty} nu_n(x)t^{n-1}$$

= $[a + (2a+1-ax)t](x+2t)(1-xt-t^2)^{-2}$
+ $(2a+1-ax)(1-xt-t^2)^{-1}$.

$$\begin{split} & \left(1 - xt - t^2\right) \sum_{n=0}^{\infty} nu_n(x) t^{n-1} \\ &= \left[a + (2a + 1 - ax)t\right] (x + 2t) \left(1 - xt - t^2\right)^{-1} + (2a + 1 - ax), \\ &= (x + 2t) \sum_{n=0}^{\infty} u_n(x) t^n + (2a + 1 - ax), \\ &\sum_{n=0}^{\infty} nu_n(x) t^{n-1} - \sum_{n=0}^{\infty} nx u_n(x) t^n - \sum_{n=0}^{\infty} nu_n(x) t^{n+1} \\ &= \sum_{n=0}^{\infty} xu_n(x) t^n - \sum_{n=0}^{\infty} 2u_n(x) t^{n+1} + (2a + 1 - ax). \end{split}$$

Now equating the coefficient of t^n on both sides we get,

 $(n+1)u_{n+1}(x) - nxu_n(x) - (n-1)u_{n-1}(x) = xu_n(x) + 2u_{n-1}(x),$ $(n+1)u_{n+1}(x) - (n+1)u_{n-1}(x) = (n+1)xu_n(x),$ $u_{n+1}(x) - u_{n-1}(x) = xu_n(x).$

Theorem 3.2. Prove that

 $u'_{n+1}(x) = xu'_n(x) + u_n(x) + u'_{n-1}(x), n \ge 1.$

Proof. By (3.1), we have $u_{n+1}(x) - u_{n-1}(x) = xu_n(x), n \ge 1.$

Differentiating both sides with respect to x, obtain

$$\dot{u_{n+1}}(x) - \dot{u_{n-1}}(x) = x\dot{u_n}(x) + u_n(x),$$

 $\dot{u_{n+1}}(x) = x\dot{u_n}(x) + u_n(x) + \dot{u_{n-1}}(x).$

Theorem 3.3. Prove that

 $nu_n(x) = xu'_n(x) - 2u'_{n-1}(x), n \ge 1$ and $xu'_{n+1}(x) = (n+1)u_{n+1}(x) - 2u'_n(x), n \ge 1.$

Proof. By generating function of generalized Fibonacci-Like polynomials, we have

$$\sum_{n=0}^{\infty} u_n(x)t^n = \left[a + (2a+1-ax)t\right] \left(1 - xt - t^2\right)^{-1}.$$

Differentiating both sides with respect to t, we get

$$\sum_{n=0}^{\infty} nu_n(x)t^{n-1}$$

= $(2a+1-ax)(1-xt-t^2)^{-1}$ (3.3)
+ $[a+(2a+1-ax)t](x+2t)(1-xt-t^2)^{-2}$.

Differentiating both sides with respect to x, we get $\sum_{n=0}^{\infty} u_n^{'}(x)t^n = \left[a + (2a+1-ax)t\right] \left(1 - xt - t^2\right)^{-2} t - at \left(1 - xt - t^2\right)^{-1},$ $\sum_{n=0}^{\infty} u_n^{'}(x)t^{n-1} = \left[a + (2a+1-ax)t\right] \left(1 - xt - t^2\right)^{-2} - a \left(1 - xt - t^2\right)^{-1},$ $\sum_{n=0}^{\infty} u_n^{'}(x)t^{n-1} + a \left(1 - xt - t^2\right)^{-1} = \left[a + (2a+1-ax)t\right] \left(1 - xt - t^2\right)^{-2}.$ (3.4)

Using (3.4) in (3.3), we get

(3.2)

$$\sum_{n=0}^{\infty} nu_n(x)t^{n-1}$$

= $(2a+1-ax)(1-xt-t^2)^{-1}$
+ $(x+2t)\left\{\sum_{n=0}^{\infty} u'_n(x)t^{n-1} + a(1-xt-t^2)^{-1}\right\},\$
= $(2a+1-ax)(1-xt-t^2)^{-1}$
+ $(x+2t)\sum_{n=0}^{\infty} u'_n(x)t^{n-1} + a(x+2t)(1-xt-t^2)^{-1}.$

Now equating the coefficient of t^{n-1} on both sides, we get $nu_n(x) = xu'_n(x) + 2u'_{n-1}(x).$

(3.5)

Again equating the coefficient of t^n on both sides, we get

$$(n+1)u_{n+1}(x) = xu'_{n+1}(x) + 2u'_{n}(x),$$

$$xu'_{n+1}(x) = (n+1)u_{n+1}(x) - 2u'_{n}(x).$$
 (3.6)
Theorem 3.4. Prove that

$$(n+1)u_{n}(x) = u'_{n+1}(x) + u'_{n-1}(x), n \ge 1.$$

Proof. By (3.1), we have $u_{n+1}(x) - u_{n-1}(x) = xu_n(x), n \ge 1.$ Differentiating both sides with respect to x, we get

$$\dot{u}_{n+1}(x) - \dot{u}_{n-1}(x) = x \dot{u}_n(x) + u_n(x),$$

$$x \dot{u}_n(x) + u_n(x) = \dot{u}_{n+1}(x) - \dot{u}_{n-1}(x).$$
 (3.7)

Using (3.5) in (3.7), we get

$$nu_{n}(x) - 2u_{n-1}(x) + u_{n}(x) = u_{n+1}(x) - u_{n-1}(x).$$

$$nu_{n}(x) + u_{n}(x) = u_{n+1}(x) + 2u_{n-1}(x) - u_{n-1}(x),$$

$$(n+1)u_{n}(x) = u_{n+1}(x) + u_{n-1}(x).$$
(3.8)

Theorem 3.5. Prove that

 $xu'_{n}(x) = 2u'_{n+1}(x) - (n+2)u_{n}(x), n \ge 0.$

Proof. Using (3.5) in (3.8), we get

$$(n+1)u_{n}(x) = u_{n+1}(x) + \frac{1}{2} \Big[nu_{n}(x) - xu_{n}(x) \Big],$$

$$2(n+1)u_{n}(x) = 2u_{n+1}(x) + \Big[nu_{n}(x) - xu_{n}(x) \Big],$$

$$xu_{n}(x) = 2u_{n+1}(x) + nu_{n}(x) - (2n+2)u_{n}(x),$$

$$xu_{n}(x) = 2u_{n+1}(x) + (n-2n-2)u_{n}(x),$$

$$(3.9)$$

Theorem 3.6. Prove that $(n+1)xu'_n(x) = nu'_{n+1}(x) - (n+2)u'_{n-1}(x), n \ge 1.$

Proof. Using (3.8) in (3.2), we get

$$(n+1)\left\{u_{n+1}^{'}(x) - xu_{n}^{'}(x) - u_{n-1}^{'}(x)\right\} = u_{n+1}^{'}(x) + u_{n-1}^{'}(x),$$

$$(n+1)u_{n+1}^{'}(x) - (n+1)xu_{n}^{'}(x) - (n+1)u_{n-1}^{'}(x)$$

$$= u_{n+1}^{'}(x) + u_{n-1}^{'}(x),$$

$$(n+1)u_{n+1}^{'}(x) - (n+1)u_{n-1}^{'}(x) - u_{n+1}^{'}(x) - u_{n-1}^{'}(x)$$

$$= (n+1)xu_{n}^{'}(x),$$

$$nu_{n+1}^{'}(x) - (n+2)u_{n-1}^{'}(x) = (n+1)xu_{n}^{'}(x),$$

$$(n+1)xu_{n}^{'}(x) = nu_{n+1}^{'}(x) - (n+2)u_{n-1}^{'}(x).$$
(3.10)

Theorem 3.7. (Explicit Sum Formula) Prove that

$$u_{n}(x) = a \sum_{k=0}^{\left[\frac{n}{2}\right]} {\binom{n-k}{k}} x^{n-2k}.$$
 (3.11)

Proof. By generating function (2.5), we have

$$\sum_{n=0}^{\infty} u_n(x)t^n = [a + (2a + 1 - ax)t](1 - xt - t^2)^{-1}\sqrt{b^2 - 4ac}$$
$$= [a + (2a + 1 - ax)t][1 - (x + t)t]^{-1}$$
$$= [a + (2a + 1 - ax)t]\sum_{n=0}^{\infty} (x + t)^n t^n$$
$$= [a + (2a + 1 - ax)t]\sum_{n=0}^{\infty} t^n \sum_{k=0}^n \binom{n}{k} x^{n-k} t^k$$

$$\sum_{n=0}^{\infty} u_n(x)t^n = \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \sum_{k=0}^{n} \frac{n!}{k!n-k!} x^{n-k} t^{n+k}$$
$$= \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{n+k!}{k!n!} x^n t^{n+2k}$$
$$= \left[a + (2a+1-ax)t\right] \sum_{n=0}^{\infty} \sum_{k=0}^{\left\lfloor \frac{n}{2} \right\rfloor} \frac{n-k!}{k!n-2k!} x^{n-2k} t^n.$$

Equating coefficients of t^n on both sides, we get

$$u_n(x) = a \sum_{k=0}^{\left\lfloor \frac{n}{2} \right\rfloor} {\binom{n-k}{k}} x^{n-2k}.$$

Theorem 3.8. For positive integer $n \ge 0$, prove that

$$u_n(x) = ax^n {}_2F_1\left(\frac{-n}{2}, \frac{-n+1}{2}; -n; \frac{-4}{x^2}\right).$$
(3.12)

Proof. By explicit sum formula (3.11), it follows that

$$u_n(x) = ax^n \sum_{k=0}^{[n/2]} \frac{n-k!}{k!n-2k!} x^{-2k}$$

$$=ax^{n}\sum_{k=0}^{\left[\frac{n}{2}\right]}\frac{\left(-1\right)^{k}\left(1\right)_{n}\left(-n\right)_{2k}}{\left(-n\right)_{k}\left(-1\right)^{2k}\left(1\right)_{n}}\frac{x^{-2k}}{k!}$$

$$=ax^{n}\sum_{k=0}^{\left[\frac{n}{2}\right]}\frac{\left(-1\right)^{k}2^{2k}\left(\frac{-n}{2}\right)_{k}\left(\frac{-n+1}{2}\right)_{k}}{\left(-n\right)_{k}\left(-1\right)^{2k}}\frac{x^{-2k}}{k!}$$

$$=ax^{n}\sum_{k=0}^{\left[\frac{n}{2}\right]}\frac{\left(\frac{-n}{2}\right)_{k}\left(\frac{-n+1}{2}\right)_{k}}{\left(-n\right)_{k}}\frac{\left(\frac{-4}{x^{2}}\right)^{k}}{k!}.$$

Hence, $u_n(x) = ax^n {}_2F_1\left(\frac{-n}{2}, \frac{-n+1}{2}; -n; \frac{-4}{x^2}\right).$

Theorem 3.9. For positive integer $n \ge 0$, prove that

$$\sum_{n=0}^{\infty} (c)_{n} u_{n}(x) \frac{t^{n}}{n!}$$

= $a (1-xt)^{-c} {}_{3}F_{2} \left(\frac{c}{2}, \frac{c+1}{2}, n+1; \frac{n+1}{2}; \frac{n+2}{2}; \frac{t^{2}}{(1-xt)^{2}} \right).$
(3.13)

Proof. Multiplying both sides of the explicit sum formula by $(c)_n \frac{t^n}{n!}$ and summing between the limit n = 0 to $n = \infty$, we obtain

$$\sum_{n=0}^{\infty} (c)_{n} u_{n} (x) \frac{t^{n}}{n!} = a \sum_{n=0}^{\infty} \sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{n-k!}{k!n-2k!} (c)_{n} x^{n-2k} \frac{t^{n}}{n!}$$
$$= a \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{n+k!}{k!n!n+2k!} (c)_{n+2k} x^{n} t^{n+2k}$$
$$= a \left\{ \sum_{n=0}^{\infty} (c+2k)_{n} \frac{(xt)^{n}}{n!} \right\} \sum_{k=0}^{\infty} \frac{n+k!}{k!n+2k!} (c)_{2k} t^{2k}$$

$$\sum_{n=0}^{\infty} (c)_n u_n(x) \frac{t^n}{n!}$$

= $a \sum_{k=0}^{\infty} (1-xt)^{-(c+2k)} \frac{n+k!}{k! n+2k!} (c)_{2k} t^{2k}$

$$= a(1-xt)^{-c} \sum_{k=0}^{\infty} \frac{n+k!}{k!n+2k!} (c)_{2k} \left[\frac{t^2}{(1-xt)^2} \right]^k$$
$$= a(1-xt)^{-c} \sum_{k=0}^{\infty} \frac{n+k!}{n+2k!} 2^{2k} \left(\frac{c}{2} \right)_k \left(\frac{c+1}{2} \right)_k \left[\frac{t^2}{(1-xt)^2} \right]^k / k!$$

$$=a(1-xt)^{-c}\sum_{k=0}^{\infty}\frac{(n+1)_{k}}{(n+1)_{2k}}2^{2k}\binom{c}{2}_{k}\binom{c+1}{2}_{k}\left[\frac{t^{2}}{(1-xt)^{2}}\right]^{k}/k!,$$

$$=a(1-xt)^{-c}\sum_{k=0}^{\infty}\frac{\left(\frac{c}{2}\right)_{k}\left(\frac{c+1}{2}\right)_{k}(n+1)_{k}}{\left(\frac{n+1}{2}\right)_{k}\left(\frac{n+2}{2}\right)_{k}}\left[\frac{t^{2}}{\left(1-xt\right)^{2}}\right]^{k}/k!.$$

Hence,

$$\sum_{n=0}^{\infty} (c)_{n} u_{n} (x) \frac{t^{n}}{n!}$$

= $a (1-xt)^{-c} {}_{3}F_{2} \left(\frac{c}{2}, \frac{c+1}{2}, n+1; \frac{n+1}{2}; \frac{n+2}{2}; \frac{t^{2}}{(1-xt)^{2}} \right).$

Theorem 3.10. (Catalan's Identity) Let $u_n(x)$ be the nth term of generalized Fibonacci-Like polynomials, then

$$u_n^2(x) - u_{n+r}(x)u_{n-r}(x) = \frac{(-1)^{n-r}}{a^2 + 3a + 1} [(2a+1)u_r(x) - au_{r+1}(x)], \ n > r \ge 1.$$
(3.14)

Proof. Using Binet's formula (2.5), we have

$$u_{n}^{2}(x) - u_{n+r}(x)u_{n-r}(x)$$

$$= (A\alpha^{n} + B\beta^{n})^{2} - (A\alpha^{n+r} + B\beta^{n+r})(A\alpha^{n-r} + B\beta^{n-r})$$

$$= AB(\alpha\beta)^{n} (2 - \alpha^{r}\beta^{-r} - \alpha^{-r}\beta^{r})$$

$$= -AB(-1)^{n-r} (\alpha^{r} - \beta^{r})^{2}$$

$$= \frac{(a^{2} + 3a + 1)}{(\alpha - \beta)^{2}} (-1)^{n-r} (\alpha^{r} - \beta^{r})^{2}$$

$$= (a^{2} + 3a + 1)(-1)^{n-r} \frac{(\alpha^{r} - \beta^{r})^{2}}{(\alpha - \beta)^{2}}.$$

Since

$$\frac{\alpha^r - \beta^r}{\alpha - \beta} = \frac{(2a+1)u_r(x) - au_{r+1}(x)}{(2a+1)^2 - a(2a+1) - a^2} = \frac{(2a+1)u_r(x) - au_{r+1}(x)}{(a^2 + 3a+1)}$$

$$u_n^2(x) - u_{n+r}(x)u_{n-r}(x)$$

= $\frac{(-1)^{n-r}}{(a^2 + 3a + 1)} [(2a + 1)u_r(x) - au_{r+1}(x)]^2, n > r \ge 1.$

Theorem 3.11. (Cassini's Identity) Let $u_n(x)$ be the nth term

of generalized Fibonacci polynomials, then

$$u_n^2(x) - u_{n+1}(x)u_{n-1}(x) = (-1)^{n-1}(a^2 + 3a + 1), n \ge 1.$$

Proof. If r = 1 in the Catalan's Identity, then obtained required result.

(3.15)

Theorem 3.12. (d'Ocagne's Identity) Let $u_n(x)$ be the nth

term of generalized Fibonacci polynomials, then

$$u_{m}(x)u_{n+1}(x) - u_{m+1}(x)u_{n}(x) = (-1)^{n} \left[\frac{(2a+1)u_{m-n}(x) - au_{m-n+1}(x)}{a^{2} + 3a + 1} \right], \ m \ge 1, n \ge 0, m > n.$$
(3.16)

Proof. Using Binet's formula (2.5), we have

$$u_{m}(x)u_{n+1}(x) - u_{m+1}(x)u_{n}(x) = (A\alpha^{n} + B\beta^{m})(A\alpha^{n+1} + B\beta^{n+1}) - (A\alpha^{m+1} + B\beta^{m+1})(A\alpha^{n} + B\beta^{n}) = AB(\alpha^{m}\beta^{n+1} + \alpha^{n+1}\beta^{m} - \alpha^{n}\beta^{m+1} - \alpha^{m+1}\beta^{n}) = AB(\alpha\beta)^{n} \Big[\beta(\alpha^{m-n} - \beta^{m-n})\alpha(\alpha^{m-n} - \beta^{m-n})\Big] = AB(-1)^{n}(\beta - \alpha)(\alpha^{m-n} - \beta^{m-n}) = \frac{(a^{2} + 3a + 1)}{(\alpha - \beta)^{2}}(-1)^{n}(\alpha - \beta)(\alpha^{m-n} - \beta^{m-n}) = (a^{2} + 3a + 1)(-1)^{n}\frac{(\alpha^{m-n} - \beta^{m-n})}{(\alpha - \beta)}.$$

Since,

$$\frac{\alpha^{m-n} - \beta^{m-n}}{\alpha - \beta} = \frac{(2a+1)u_{m-n}(x) - au_{m-n+1}(x)}{(2a+1)^2 - a(2a+1) - a^2} = \frac{(2a+1)u_{m-n}(x) - au_{m-n+1}(x)}{(a^2 + 3a+1)},$$

we obtain

$$u_m(x)u_{n+1}(x) - u_{m+1}(x)u_n(x) = (-1)^n \left[\frac{(2a+1)u_{m-n}(x) - au_{m-n+1}(x)}{a^2 + 3a + 1} \right], \ m \ge 1, n \ge 0, m > n.$$

Theorem 3.13. (Generalized Identity) Let $u_n(x)$ be nth term of generalized Fibonacci polynomials, then

$$u_{m}(x)u_{n}(x) - u_{m-r}(x)u_{n+r}(x)$$

= $(a^{2} + 3a + 1)(-1)^{m-r} \times$
[$(2a + 1)u_{r}(x) - au_{r+1}(x)$][$(2a + 1)u_{n-m+r}(x) - au_{n-m+r+1}(x)$],
 $n > m \ge r \ge 1$

$$u_{m}(x)u_{n}(x) - u_{m-r}(x)u_{n+r}(x)$$

$$= (A\alpha^{m} + B\beta^{m})(A\alpha^{n} + B\beta^{n}) - (A\alpha^{m-r} + B\beta^{m-r})(A\alpha^{n+r} + B\beta^{n+r})$$

$$= AB(\alpha^{r} - \beta^{r})\left[\frac{\alpha^{m}\beta^{n}}{\alpha^{r}} - \frac{\alpha^{n}\beta^{m}}{\beta^{r}}\right]$$

$$= AB(-1)^{-r}(\alpha^{r} - \beta^{r})(\alpha^{m}\beta^{n+r} - \alpha^{n+r}\beta^{m})$$

$$= AB(-1)^{-r}(\alpha^{m}\beta^{m})(\alpha^{r} - \beta^{r})(\beta^{n-p+r} - \alpha^{n-p+r})$$

$$= -AB(-1)^{-r}(\alpha^{m}\beta^{m})(\alpha^{r} - \beta^{r})(\alpha^{n-p+r} - \beta^{n-p+r})$$

$$= \frac{(a^{2} + 3a + 1)}{(\alpha - \beta)^{2}}(-1)^{-r}(\alpha^{m}\beta^{m})(\alpha^{r} - \beta^{r})(\alpha^{n-p+r} - \beta^{n-p+r}).$$
Proof. Using Binet's formula (2.5), we have

Using subsequent results of Binet's formula, we get

Since,
$$\frac{\alpha^r - \beta^r}{\alpha - \beta} = \frac{(2a+1)u_r(x) - au_{r+1}(x)}{(a^2 + 3a + 1)}$$
 and

$$\frac{\alpha^{n-m+r} - \beta^{n-m+r}}{\alpha - \beta} = \frac{(2a+1)u_{n-m+r}(x) - au_{n-m+r+1}(x)}{(a^2 + 3a + 1)}$$

$$u_{m}(x)u_{n}(x) - u_{m-r}(x)u_{n+r}(x)$$

$$= (a^{2} + 3a + 1)(-1)^{m-r} \times$$

$$[(2a+1)u_{r}(x) - au_{r+1}(x)][(2a+1)u_{n-m+r}(x) - au_{n-m+r+1}(x)],$$

$$n > m \ge r \ge 1$$
The identity (3.13) provides Catalan's identity, Cassini's and d'Ocagne and other identities.

4. Conclusion

In this paper, we have introduced generalized Fibonacci polynomials by variation of initial conditions and presented some basic results. Finally explain some fundamental properties with derivations by standard methods.

Acknowledgements

The authors are very grateful to the referees for very helpful suggestions and comments about the paper which have improved the presentation and its readability.

References

- A. R. Glasson, "Remainder Formulas, Involving Generalized Fibonacci and Lucas Polynomials," *The Fibonacci Quarterly*, 33 (3), 268-172, 1965.
- [2] A. F. Horadam and J. M. Mahon, "Pell and Pell-Lucas Polynomials," *The Fibonacci Quarterly*, 23 (10), 7-20, 1985.
- [3] A. Lupas, "A Guide of Fibonacci And Lucas Polynomials," Octagon Mathematics Magazine, 7 (1), 2-12, 1999.
- [4] A. Nalli and P. Haukkanen, "On generalized Fibonacci and Lucas polynomials," *Chaos, Solitons and Fractals*, 42(5), 3179–3186, 2009.
- [5] B. G. S. Doman and J. K. Williams, "Fibonacci and Lucas Polynomials," *Mathematical Proceedings of the Cambridge Philosophical Society*, 90, Part 3, 385-387, 1981.
- [6] Beverage David, "A Polynomial Representation of Fibonacci Numbers," *The Fibonacci Quarterly*, 9, 541-544, 1971.
- [7] B. Singh, O. Sikhwal and Y. K. Panwar, "Generalized Determinantal Identities Involving Lucas Polynomials," *Applied Mathematical Sciences*, 3 (8), 377-388, 2009.
- [8] B. Singh, S. Bhatnagar and O. Sikhwal, "Fibonacci-Like Polynomials and Some identities," *International Journal of Advanced Mathematical Sciences*, 1 (3), 152-157, 2013.
- [9] E. C. Catalan, "Notes Surla Theorie des Fractions continuess et Sur Certaines Series," Mem. Acad. R. Belgique, 45, 1-82, 1883.
- [10] E. Jacosthal, "Fibonacci Polynome und Kreisteil Ungsgleichugen Sitzungsberichte der Berliner," *Math. Gesellschaft*, 17, 43-57, 1919-20.
- [11] G. B. Djordjevi and H. M. Srivastava, "Some generalizations of the incomplete Fibonacci and the incomplete Lucas polynomials," *Adv. Stud. Contemp. Math.*, 11, 11-32, 2005.
- [12] J. Ivie, "Ageneral *Q*-matrix," *The Fibonacci Quarterly*, 10 (3), 255–261, 1972.
- [13] Marjorie Bicknell, "A Primer for the Fibonacci Numbers: Part VII- An Introduction to Fibonacci

Polynomials and their Divisibility Properties," *The Fibonacci Quarterly*, 8 (4), 407-420, 1970.

- [14] M. Singh, M., O. Sikhwal and Y. Gupta., "Generalized Fibonacci-Lucas Polynomials," *International Journal of Advanced Mathematical Sciences*, 2 (1), 81-87, 2014.
- [15] M. N. S. Swamy, "Generalized Fibonacci and Lucas Polynomials and their associated diagonal Polynomials," *The Fibonacci Quarterly*, 37, 213-222, 1999..
- [16] O. Sikhwal, "Generalization of Fibonacci Polynomials," Kartindo Academia, Kartindo.com: International Publisher and distributor, India 2014.
- [17] P. F. Byrd, "Expansion of Analytic Functions in Polynomials Associated with Fibonacci Numbers," *The Fibonacci Quarterly*, 1 (1), 16-29, 1963.
- [18] S. L. Basin, 'The appearance of Fibonacci Numbers and the Q matrix in Electrical Network Theory," *Mathematics Magazine*, 36 (2), 84-97, 1963.
- [19] T. Koshy, *Fibonacci and Lucas Numbers With Applications,* John Wiley and Sons, New York, 2001.
- [20] V. E. Hoggatt Jr. and M. Bicknell, "Generalized Fibonacci polynomials and Zeckendorf's theorem," *The Fibonacci Quarterly*, 11 (4), 399–419, 1973.
- [21] V. E. Hoggatt Jr. and C. T. Long, "Divisibility Properties of Fibonacci Polynomials," *The Fibonacci Quarterly*,12 (2), 113-120. 1974.
- [22] W. A. Webb and E. A. Parberry, "Divisibility Properties of Fibonacci Polynomials," *The Fibonacci Quarterly*, 7(5), 457-463, 1969.